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A. INFORMATION FOR STUDENTS TAKING THE
PROPERTY PRACTICE MIDTERM 

(1) FORMAT & COVERAGE

a.  The practice midterm will be a closed book one hour exam consisting of two questions, each of which will be similar in form to the shorter Review Problems.  I will attach relevant portions of the syllabus to the exam for you to use as an aid to memory if necessary.

b.  For the first twenty minutes, you may read the questions and take notes on scrap paper and on the exam itself.  You may not write in the bluebooks or type on your laptops during the first twenty minutes.  You then will have forty minutes to write your answers to the two questions in the bluebooks or on your laptops. Since the questions are weighted equally, that gives you about 20 minutes of writing time for each question.

c.
The exam questions will include two of the following three possibilities:


i) A question similar to Review Problems 1A-1C asking you to apply State v. Shack.

ii) A question similar to Review Problems 2A-2F asking you to address one element of adverse possession.


iii) A question similar to Review Problems 3A-3F asking you to apply a particular nuisance test.
(2) SOME SUGGESTIONS SPECIFIC TO TAKING THIS EXAM

a.  During your 20 minute reading period: 

(i) read the questions carefully more than once (you get little credit for writing a smart answer to a question I didn’t ask); and  

(ii) make a quick rough outline of each of your answers (a little bit of structure makes it much easier for me to see what you are arguing and to give you appropriate credit)   

b.   You probably will not have time to answer both questions exhaustively.  Make sure you stop working on the first question you answer early enough to leave yourself sufficient time to answer the second question adequately.  Part of the reason for giving you two questions is to help you get used to allocating your time wisely.
(3) PRE-EXAM OFFICE HOURS & E-MAIL QUESTIONS:  

a.  In addition to my normal office hours, I will hold extra pre-exam office hours this week on Wednesday and Thursday from 10:00 a.m. to Noon and on Thursday evening from 5:30-8:30 p.m.  As with all my office hours, no appointment is necessary; I will answer questions on a first-come first-served basis.  

b.  If you submit specific questions by e-mail by 9:00 p.m. on Thursday, I will get back to you by noon on Friday.  
c.  If you want a sense of what I look for in an exam answer, look at the comments and best answers to the Review Problems in Info Memo #3  for Chapter 1, in Info Memo #4 for Chapter 2, and in Info Memo #5 for Chapter 3.
B.  EXAM-TAKING TIPS

This is a quick overview of some key points.  For more detailed advice, you could watch my Exam Tips Workshops from prior years (available on the Academic Achievement Program website) or look at the very fine book, Fischl & Paul, Getting to Maybe.

I.
KNOW YOUR TASK 


A.
Common Task on Undergraduate Exams:  Show What You Know


B.
Task Here:  Show You Can Address Problems Using What You Know

C.
Typical Exam Question Asks You to “Discuss” a Short Fact-Pattern


1.
Respond by “Issue-Spotting”:




a.
spot major topics you must address to resolve problem



b.
spot arguments lawyers might make about major topics

2.
Helpful to View Answer as Draft of Analysis Section of Memo


a.
Because it’s the analysis section:



i) no need to summarize facts at beginning



ii) no need to lay out question presented at beginning



iii) need to apply relevant rules/policies to facts



iv) need to include best arguments on both sides



v) helpful to try to determine what a court might do



vi) arguments should be based in legal authority


b.
Because it’s a draft:



i) no need to spend time polishing sentences



ii) no need for elaborate introduction/conclusion



iii) use abbreviations and short form citations

3.
Telling Us “What You Know” Is Not Responsive


a.
don’t write everything you know about major topics


b.
simply listing rules & holdings of cases insufficient


c.
discuss “law” in conjunction with either


i) a discussion of which rule should apply to the facts;  -OR- 


ii) applying the rule to the facts 

II.
RESPOND TO THE QUESTION ASKED


A.
Read Carefully


B.
Follow Any Directions Given



1.
If I say assume something is true, don’t argue.



2.
If I ask you to take on a particular role, do it.



3.
If I specify issues for you to discuss, do so.


C.
Discuss the facts you are given



1.
Assume all facts given are relevant



2.
Not helpful to discuss at length result if facts were different



3.
Discuss missing facts if necessary to respond to the question




a.
example:  torts question re Jim’s liability




i) problem says “Jim hit Ken with car.”




ii) need to know Jim’s intent to resolve question





iii) if Jim intended to kill Ken, then …; if not, …




b.
don’t discuss outside facts that alter nature of problem





i) if there had been a fire, it might have been arson …





ii) if the tenant was married to the landlord …

III.
USE YOUR TIME WISELY


A.
You Don’t Have Time to Say Every Possible Thing



1.
Always more arguments than you could write in allotted time



2.
You need to make choices about what to address


B.
Spend most time on hardest stuff:  what lawyers will argue about 



1.
Easy to resolve issues don’t show off your abilities.



2.
Focus on issues difficult to resolve from course materials




a.
shows that you see where case isn’t easy




b.
gives opportunity to use lots of tools 

C.
Time-Saving Tips 



1.
using abbreviations, especially names of parties (Fred ( F)



2.
use one word cites to cases (Jones, not Jones v. Hambletonian)



3.
use headings instead of topic sentences.  Compare:
a.  “The first issue here is personal jurisdiction.  The first question we need to 
ask is what contacts the defendant had with the jurisdiction.”

b.  Pers. Jurisd.:  D’s Contacts:    



4.
develop a concise writing style



5.
prepare concise versions of frequently-used rules/policies



6.
avoid long introductions and conclusions

IV.
ORGANIZE YOUR ANSWER

A.
Before You Write:  Make A Quick Outline


1.
Take a little time to i.d. major issues you want to discuss

2.
Decide the order you’ll do them in

3.
Maybe estimate time you’ll spend on each

4.
Maybe jot down a few things you’ll discuss for each

5.
Do not spend 25 minutes outlining a 1 hour question.

B.
Possible Organizational Structures
1.
Chronology 

a.
Discuss first things that happened first
b.
Useful if several transactions in question
c.
Often true in Contracts & Property
2.
Elements of Cause of Action




a.
Discuss each element in turn




b.
Spend more time on contested ones



3.
Do issues with most to discuss first 


C.
While You Are Writing



1.
Don’t obsess about what to do first/next




a.
more important to keep writing than order of topics




b.
nobody expects you to find perfect structure on exam



2.
Make your structure visible to the reader




a.
indicate changes in topic with headings




b.
start new paragraph with each change in focus. 

3.
Do one thing at a time


a.
once you list a rule or policy, apply it immediately


b.
finish one topic before moving on to the next


c.
if you think of a point on a different topic:

i) jot it down on scrap paper

ii) return to it when you’ve finished current topic 

V.
PROVIDE ANALYSIS OF THE ISSUES YOU SEE


A.
Integrate Law and Facts



1.
danger signal: long stretches with either no rules or no facts 



2.
analysis of a topic requires both




a.
rule without facts doesn’t resolve problem




b.
facts need context of legal rules or not legal analysis 



3.
useful structure



a.
begin topic by stating applicable rule




b.
explain ways it might be applied to facts of problem




c.
useful transition between rule and facts:  “Here, …”


4.
if more than one possible rule:




a.
do analysis under first possibility




b.
do analysis under second possibility




c.
discuss arguments re which rule ought to apply


B.
Show All Work



1.
don’t simply lay out rules and conclusions



2.
lay out all steps in your reasoning



3.
prove to me that you are reasoning and not guessing


C.
Argue (at least) Two Sides



1.
No party ever is an easy winner in an exam question



2.
Look hard for serious arguments for both sides
3.
If you write a paragraph that only supports one party, force yourself to begin 
the next with “However, the other side will argue”

4.
Some types of counter-arguments

a.
different inferences from facts given

b.
different application of same law to facts

c.
different possible rules

d.
different application of policy arguments

e.
countervailing policy arguments


D.
Use Policy/Theory Arguments



1.
Purpose behind a rule can tell you how to interpret it



2.
Purpose behind a rule can tell you if it applies at all



3.
Policy/theory can help you choose between rules


E.
Work Through Issues That are Hard to Resolve from Materials



1.
Explain why you think issue is hard to resolve.  E.g., 




a.
Facts fall between case X and case Y




b.
Rule points to P winning, but that seems bad result




c.
Rule developed in very different context



2.
Lay out more than one possible approach to issue




a.
Don’t be afraid to be creative




b.
Identify strengths/weaknesses in possible approaches




c.
Use policy/theory to argue about best way to handle

VI.
GETTING THE MOST OUT OF THE PRACTICE MIDTERM


A.
Preparing for the Exam



1.
Try to Get a Good Grasp of Each Topic You Studied




a.
review notes




b.
reread parts you aren’t certain about




c.
outline some or all of course



2.
Practice working through hypotheticals




a.
Sources

i) old exam questions if available

ii) hypotheticals from casebook/course materials 

iii) hypotheticals from class




b.
ways to work with:

i) discuss with other students





ii) make list of possible arguments





iii) try to write out answer in exam format (best)



3.
If open book, prepare aids to help you during exam




a.
think through what would help you most.  Examples:




b.
checklists of topics to look for




c.
checklists of issues to discuss for particular topics




d.
charts that help you understand a topic




e.
lists of concisely worded versions of important rules


B.
Self-Evaluation (After Test, Before Receiving Feedback)



1.
Think About How You Prepared For Test




a.
What activities proved helpful?




b.
What activities were unhelpful or not good use of time?




c.
What could you do differently?



2.
Think About Experience of Sitting in Test (if open-book)



a.
Were the materials you had with you useful?




b.
What materials you didn’t have might have helped?
 

3.
Consider if there are ways you should alter your daily class preparation in light of your experience on the midterm


C.
Taking Advantage of Instructor Feedback



1.
Read/listen carefully to any feedback you get



2.
Ask questions about anything you are not sure of



3.
On your own time, take exams from the other three courses

(C) Write-Ups: Student Questions, Selected DQs, & Related Info:  Chapter 3

(1) Overview:  In prior years, I have received questions about nuisance doctrine that suggest a number of students have absorbed some mistakes about how the doctrine works. Here is a quick overview that I provided to straighten things out.

(a) Private Nuisance:  


(i) Where the First Restatement Governs: You need to determine the extent of the harm and the utility of the conduct, and then attempt to balance them. If the harm exceeds the utility, the court issues an injunction. 


(ii) Where the Second Restatement Governs: You do the First Restatement’s analysis to determine if an injunction should issue.  If the utility exceeds the harm, continue with the additional steps required by the second prong to determine if damages are appropriate (Is the harm serious?  Is paying damages feasible?).  If paying all damages caused by the enterprise would effectively shut it down, a court can award no damages or award partial damages to those suffering the greatest harm.


(iii) Preclusion:  In a nuisance problem where the conduct complained of seems atypical for what you know of nuisance actions (like the mere presence of a person acquitted of murder), you could discuss whether it should be treated as a nuisance at all.   (See below)
(b) Public Nuisance (see also Section (2) below)

(i) Is the harm sufficiently “public”?  It is if a statute says so.  Otherwise, you discuss whether enough people are affected; cases use formulations like “interference with a right common to the general public” or affecting “a substantial number of people” or a “whole neighborhood or community.”


(ii) Is there a nuisance? Again, there is if a statute says so.  Otherwise, you check the local jurisdiction for the tests it uses for nuisance.  Arizona in Armory Park simply used the First Restatement balancing test.


(iii) Standing:  The government always has standing to bring a public nuisance case.  A private landowner has standing if he has harm beyond that experienced by the general public.  For example, in Armory Park, if you lived in the neighborhood and faced a general decline in property value, you probably wouldn’t have standing, but if you were one of the owners who was experiencing regular trespassing, you would.  Note that if an individual owner has standing to bring a public nuisance action, she almost certainly could bring a private nuisance action as well. 

(2) Public Nuisance Doctrine & Cases:

(a) Student Question re Standing: 

Q: To have standing to bring a public nuisance suit, I know a private citizen must show harm suffered was of a unique type.   Does this necessarily mean it has to be more severe than the public at large, or simply different than the public at large?  
A: Different in kind.  E.g., Factory is polluting, so public at large suffers health risks and odors.  Homeowners who live very close so they also have substantial loss in Property values will have standing to sue.

(b) Statute Applied in Spur:  As noted in class, Spur relied on an Arizona statute to determine that the feedlot was a public nuisance.  The existence of the statute both would demonstrate liability and would demonstrate that the nuisance was “public.”  The language of the statute, edited out by the casebook authors from the text on P162, was as follows:
Any condition or place in populous areas which constitutes a breeding place for flies, rodents, mosquitoes and other insects which are capable of carrying and transmitting disease‑causing organisms to any person or persons.

(c) DQ72:  Balance in Armory Park:  I left this for you to do on your own.  Keep in mind that the social utility of the soup kitchen would be measured by contrasting it to the next best alternative way to provide food to the homeless (e.g., an alternate site), not necessarily to completely shutting the operation down.
(3) Preclusion Issues:

(a) Generally:  Legal claims that, because of something about the type of harm alleged, the court should not allow a nuisance suit to proceed, even though the plaintiff might have suffered genuine harm.  Some notes on specific examples follow:
(b) Aesthetics/Access to Sunlight

(i)Puritan Holding described in Note 4 on P145 appears to allow a claim for aesthetic nuisance against the owner of an abandoned & dilapidated apartment building.  However, one could also describe the case as not purely aesthetic.  Arguably, failure to do upkeep on a building is not an aesthetic choice but a choice about how to use the land that is therefore the appropriate subject for a nuisance claim.  

(ii) Prah v. Maretti,  referenced in the notes on P143-45, is the leading case allowing a nuisance case to proceed based on a claim that the defendant blocked sunlight to the defendant’s land.  If you wish to look at an edited version of the case (not required), it is in the casebook at P138-43.
(c) Irrational Harm to Property Value:  One important preclusion issue is whether we should allow nuisance claims on genuine harm to property value that is based on the public’s irrational or incorrect belief (e.g., fear of illness resulting from proximity to cell phone towers).  FYI, the case I noted in class (involving an incorrect belief that the defendant had tainted the groundwater on certain properties) is Adkins (Mich 1992) 

(d) Existence of Other Legal Remedies/Regulation:  
(i) Generally: One sensible reason to preclude a nuisance suit is where other legal remedies or regulation like zoning or environmental statutes already address the problem at issue.  
(ii) Trespass v. Nuisance:  Because the existence of a viable trespass claim might preclude a nuisance suit, it is useful for you to think about what types of claims are best addressed by each cause of action.  Relevant considerations include 

(A) Available Remedies: Trespass liability almost always allows an injunction against future invasions.  Nuisance liability sometime results in damages for anticipated future harm.
(B) Method of Determining Liability: Defendants are generally strictly liable for trespass unless their conduct falls into a narrow set of established defenses (like necessity).  Determining liability for nuisance usually includes some opportunity for the defendants to balance the utility of their conduct against the harm they are causing.
(e) Harm by Third Parties: As Armory Park makes clear, under some circumstances, landowners can be liable for nuisance where, as a result of their use of their own land, third parties foreseeably interfere with their neighbors’ use and enjoyment of their own land.  However, you still might try to argue that in a particular set of cases, landowners should not be liable for the actions of third parties (e.g., the paparazzi in Review Problem 3B).  Note that in Armory Park itself, as well as in cases that it cites (Shamhart & Barrett), the fact that police or other authorities might have controlled the offending third parties was not seen as a defense to the nuisance action. 
(4) Miscellaneous: 

(a) DQ60:  Compare the decision in Maguire to the decision in Carpenter II (partial answer)

(i) How are they similar? 

· Both demonstrate policy favoring ranching/cattle industry 

· Both reverse lower court decisions that could be seen as either creative or over-reaching


(ii) How are they different? 
· Maguire dealt with a legal issue the legislature already had addressed, and so was arguably simply trying to interpret what the legislature intended in the existing statutes.   

· The legislature had not addressed the test for private nuisance at issue in Carpenter II, so the Idaho Supreme Court was left to make a policy judgment on its own about what was best for Idaho.  
(b) 
Link (provided by a Section E1 student) to story about an amusing nuisance case involving a law firm and a hamburger joint:  
http://www.washingtonexaminer.com/local/Prestigious-law-firm-sues-burger-joint-over-smell-1214765-104991844.html
 

 (D) Review Problems 3A-3G:  Comments & Best Answers

(1) Review Problem 3A (Public Nuisance/Contact Lenses)
(a) Comments on Class Discussion and Written Critiques from Prior Years

(i) Keep Legal Framework in Mind:  Remember when applying a particular rule to keep tying your argument back to the language of the rule.  Here, you should make apparent to me how your arguments connect to questions like:  

· Are enough people affected to call this nuisance “public”?

· How does this fact affect the total benefit created by the production of the lenses?

· How does this fact affect the total harm created by the production of the lenses?

· What does this fact suggest about whether the total benefits exceed the total harms.
You also keep each of these issues distinct in your presentation of your arguments.  A number of students conflated the issue of whether the nuisance was “public” with the question of how the balance came out.


(ii) The Nature of Balancing Under the First Restatement: When you are measuring benefits or harms, you need to consider what the likely alternatives to the challenged action would be.  Thus, the benefits of the special contact lenses shouldn’t be measured against giving up contact lenses entirely, but against the other forms of contact lenses out there.  Some people might give up contacts altogether if they couldn’t get these, but most would just go back to ordinary lenses.  Similarly, the local economic benefits depend on employment at the contact lens factory using this process as opposed to the next best process they could employ.

Second, the balance in a public nuisance suit
 asks you to weigh the total of all the specific benefits against the total of all the specific harms e.g.: (jobs + benefits to economy + increased comfort + cost savings on lenses + increased productivity of lens wearers + increased eye health of lens wearers, etc.) v. (harm to those strongly allergic to product + harm to those mildly allergic to product + increased health care costs + lost productivity, etc.).  This gives rise to a number of related points:

· You should not simply measure the number of people affected on each side of the equation; a large harm to a few people may outweigh a small benefit to many people.

· You should not exclude intangible or subjective harms and benefits even though they are hard to measure.  If millions of people are more comfortable, that has to be taken into account.

· You shouldn’t weigh one specific benefit against a broad generalization regarding harm (“Extra comfort to contact users is not a big enough benefit to outweigh people’s health”) or weigh one specific harm against the sum total of all benefits (“The increase in health care costs of a small group of people doesn’t outweigh the benefits to the economy and the convenience and comfort of a much larger number of people.”  Instead, you need to assess the full picture.


Third, a fact-specific balancing test is incompatible with reliance on broad statements of policy. E.g., some students argued that “health outweighs all other considerations.”  It doesn’t.  We don’t ban cigarettes outright.  We don’t set speed limits at 40.  We let people drive crushable unstable motorcycles and polluting dangerous-to-other-vehicles SUVs.  Here, you need to put specific health risks into the equation and discuss the balance.  Similarly, simply arguing that “a lot more people are helped than harmed” is unsatisfactory (it would justify the government taking property from 2% of the people without compensation and using the proceeds for the general welfare).  You need to try to assess the degree of harm and benefit along with the number of people affected. 


(iii)Factual Uncertainty in the Problem:  Exam questions often do not contain information that would be helpful to resolve relevant legal issues.  Here is a list of some of the uncertainties in this problem just on the “harms” side of the equation:

· In what concentrations does Silichlor IV (S4) cause allergic reactions?  (Note that heavy metals and other pollutants that are deadly in high concentrations exist in trace amounts in foods we eat and generally do not do us much harm)

· How far from the factory does it travel in those concentrations?  Does it stay near ground level or rise to levels where it doesn’t affect humans?
· How dense is the population around the factory?

· Are the 2% of the people who are highly allergic distributed randomly or are they concentrated in particular areas (possible if genetically linked)?

· How many people are mildly allergic?

· How do the allergies manifest?  What is the nature and severity of the harm and how long does it last?
· Are the manifestations controllable through medication?

· How expensive would it be for R to eliminate S4 from its process or to screen or limit emissions?
· How long does the chemical remain intact in the environment and can it cause damage in the future through contaminating groundwater, affecting plant growth, etc.

How do you deal with all this uncertainty?  First explicitly describe it when describing the harms and benefits.  Second, take it into account when doing your balancing.  E.g.,   “If the concentrations of S4 are high enough to trigger very strong allergic reactions and the population density around the factory is high, a court will almost certainly grant an injunction.  If the emissions cause only mild reactions in a smaller number of people, then the balance will likely turn on the court’s assessment of whether the lenses are significantly better and/or cheaper than existing alternatives.” 


(iv) Read Carefully:  E.g., the problem says that many people are highly allergic to the chemical, but does not say explicitly that any allergic reactions have taken place in this case.

 
(v) Seek Out & Embrace Complexity:  Resist the temptation to try to make the problems simple.  If you have very strong instincts about who should win, force yourself to look for counter-arguments.
(b) Student Exam Answers to Review Problem 3A:   

 
(i) Student Answer #1:  [This student does an excellent job using the restatement fac​tors to discuss the wide variety of issues that might be relevant to the balance.] First Restatement: If the harm is greater than the utility, there is a NUISANCE.  If there is a nuisance, there is an injunction or damage. (Effectively limits chances for damages when there is high utility.)  The harm vs. utility test is very difficulty to quantify, however here are some factors:


Harm? (1)  Extent of the harm:  There is not enough in​formation to determine the extent of the harm.  It says about 2% of the population is highly allergic.  2% of what size population?  Are we in a rural areas where there are three houses in a 100 mile radius?  Or are we in a city?  How far does the chemical spread?  Does it emanate for miles and miles or will it affect only the few houses within wal​ing distance?  The answers to these questions will be help​ful in measuring the harm.



(2)  Character of harm?  The chemical makes people sneeze, they are allergic to it.  Is this a significant in​convenience?  Is it only when they walk near the factory, or in their houses?  This is not like the hypos we discussed in class where the chemical caused cancer or birth defects, etc.  (Yet, perhaps it does have other effects we are un​aware of now.)  Are the people allergic to other things any​way and this just exacerbates it?  (The fact that it is odorless makes detection difficult.)



(3)  Burden of avoiding the harm:  Can the emission be stopped?  What if something is put on the smoke stacks to take it out?


Utility?
(1)  Social Value:  (a)  How many jobs does it create?  How much tax revenue does it generate?  What kind of social services and charitable events does the cor​poration sponsor?  these are all things we would have to ex​plore and attempt to quantify.  (b)  The contacts are cheaper and more comfortable.  Since a large number of Amer​icans (& the whole world) wear contacts, this is of great social value.


(2)  Suitability to locale:  Is this factory located near a lot of residences or out in the middle of nowhere?


(3)  Impracticality of preventing harm:  Can the smoke be decontaminated at the factory level?

Thus, if deciding whether there is a public nuisance, the court would have to weigh the effects of the gas on the public (which is often an uncertain and expensive process) to determine if the harm is greater than utility.  If they so find, an injunction will be granted.  If utility is greater than harm, (it is all or nothing), there is no in​junction or damage.


(ii) Student Answer #2:  [This student does a particularly good job on the question of whether the nuisance is “public.”]  Can a nuisance affecting 2% of the population be con​sidered a public nuisance?  A public nuisance arises from interference with public rights.  The right to clean air, the right not to be battered by bums [unattractive choice of words] attracted to a local freebie meal deal. Armory Park.  2% of the population may be big if the population of the state is 5 people.  We assume it is more and thus probably not a great deal of people will be affected.  Probably less than the proposed 2% will be affected because of those 2%, how many may live near the plant.  A public nuisance usually arises when a large sector of the public are being equally adversely affected by company's activities.


If the courts allow the state to bring the nuisance suit, the court will apply the First Restatement on nui​sances.  The First Restatement holds:  the public may seek and receive on injunction to enjoin the nuisance from pro​ceeding if the harm of the act outweighs the utility society may receive from the company.


How badly will people be affected if they are exposed to the S IV?  If they become so allergic that death may en​sue, we can infer that this is a great deal of harm.  If only severe allergy, akin to hay fever which 1 out of 5 peo​ple suffer, coupled with the fact that less than 2% may be affected, then good bet harm is minor.  Unlike hay fever which is seasonal, this 2% or less may be affected con​stantly, and this raises the value of the harm.


The utility of the company:  It is nice that contacts can be cheaper and more comfortable, but is not a dire ne​cessity that needs to be met.  Cheaper is good for society and the economy because so many people wear contacts that the more they spend on cheaper contacts, the better the tax revenue Conflict receives.  The utility is high in this sense.


If the people are not greatly affected, death, and less than 2%, then the utility of a progressive company outweighs the harm.  If death possible, then no utility can outweigh that potential harm.

(2) Review Problem 3B (Notorious Actress in Residential Neighborhood)

(a) Comments: What I Was Looking For:  I was hoping for some discussion of each of the two prongs of the Second Restatement test.  I rewarded thorough lists of the harms and benefits of Mary’s presence in the neighborhood, discussions of whether the harms outweighed the benefits; and discussions of  whether the harms to Scott were “serious” and payment was “feasible” within the meaning of the second prong. In addition, some people got points for discussing first in time and the limited role it would play.  A few people made the clever argument that enjoining the media from doing their jobs might raise First Amendment issues.  My favorite argument was that one harm to Scott was fear of vigilante groups trying to enforce justice against Mary in the neighborhood. 

I also gave points for recognition of two interesting policy issues raised by the Question.  The first was the extent to which Mary should be liable for the behavior of the reporters she attracts.  Many of you simply announced she couldn’t be, however in Armory Park, the church was found liable for actions of people not under its control.  Some good answers discussed whether there were real differences from Armory Park that justified a different result.  A second policy issue was whether her mere presence could constitute a nuisance if she brought about harm to her neighbors sufficient to meet the tests.  On the one hand, she has to live somewhere.  On the other, maybe there are places she could live (ranch in Central Wyoming) that would not lead to harm to neighbors.  Should celebrities be forced to live in seclusion? Interesting question (at least I think so).

(b) Common Errors:  Many of you listed tests but did not apply them to the facts.   Your job is to tell me which facts tend to show the tests are (or aren’t) met and why.   Similarly, I can’t give you much credit for simply announcing the result at the end of the test.  “First we must see if the utility outweighs the harm.  Here, there clearly is more harm than benefit.”  Remember to try to be an analyst, rather than just the person who announces who wins.  Another version of this problem is the “pass-the-buck” answer:  “a court would have to decide whether the utility here outweighs the harm.”  Yes it would. Your job is to talk about what it should consider when it decides and what arguments the parties would make to the court. If you let a mythical court do all your work for you, don’t be surprised if the mythical court (as opposed to you) gets the available points.

Many of you did not make much attempt to look for arguments for each side.  Remember that I am looking to see if you can recognize the strongest points that each side has.  If you quickly conclude there is no way one party could win, look at the problem again.  You are missing something.  Example: many of you quickly concluded because the press was causing the problem, Mary could not be liable.  As noted, it’s more complex than that.  Many of you concluded she didn’t have intent, so it couldn’t be an intentional nuisance.  The definition of “intent” for this purpose, is whether she had reason to know that the harms were substantially likely to follow from her presence.   Here, after the first couple of media appearances, given that she was working on a movie about her own problems, she surely had reason to know the press wasn’t going away.  In any event, you should have a suspicion that I’m not going to let a 20-minute problem disappear after a two-sentence analysis of an issue we didn’t discuss in class.  

Finally, some of you lost points for talking about issues outside the scope of what I asked.  Discussions of public nuisance or of what would happen under the Florida rules are simply not relevant to the question asked and show that you are not following directions.

(c) Model Answers:  Both model answers do a nice job assessing the consequences of Mary’s action, and both at least see the two interesting issues I built into the question. 

Student Answer #1: A jurisdiction that follows the second restatement test is going to be balancing the benefits against the cost, even if the utility of the conduct outweighs the gravity of the harm, the court may still find a nuisance if the harm is serious and the defendant can pay damages.

First and foremost, a court should look to that fact that Scott has lived in house for some time.  While not the deciding factor, in this case, it should be important to note that Scott was indeed there first, in relation to Mary and thus does have some say in the matter.  First in time is not the be all and end all in this matter, however it does carry some weight when considering the fact that it is he who is trying to move and not he asking her to move.  

The last part of the second restatement appears to be the easiest to address.  It is noted that Mary has been acquitted of murdering her third husband, has purchased a big house in a wealthy suburban community.  While difficult to tell (the hypo does not say) it appears that Mary is quite well off.  It could be anticipated that one of her defenses to such a charge from Scott could be that she has little money to move or even to pay Scott.  Her money has been drained in defending herself and her image has been tainted, as well as she has to pay alimony to her other husbands.  Scott will, if he is to be successful, have to convince through income tax filings and other earning reports, that indeed Mary does have enough capital to cover damages.

Scott is able to report several ways in which he is being deprived of enjoying his property.  First and foremost is the trespassing on his land.  While he will have the problem that it is not Mary whom is doing the actual trespassing, it is not out of the realm of possibility that the two are related.  It could be conceived that the trespassing is due to Mary.  Scott's second argument could be that he chose to live in this area so many years ago because of the quiet enjoyment of his property.  He paid to live in a wealthy neighborhood because he wanted this type of living.  As a result of Mary, he is being deprived of his enjoyment of his property.  Further in his attempt to leave and better himself, or rid himself of the nuisance he has placed his home on the market without success due to Mary's presence.  Scott would have to be able to prove that all of his alleged damages were a result of Mary.  He would have to get other members of his community to tell the same type of story and get realtors to attest to the diminished value of his property.  Scott will also have to prove that the harm is irreparable and substantial.

While he could try to bring such a suit it does not appear that he would be successful.  It is unlikely that a court would allow such a claim to be valid.  Basically Scott is complaining that Mary's adverse reputation is robbing him of his enjoyment of his property.  The question is, could Mary do anything to stop what he claims to be her actions.  She can tell the media to stop coming around but would that really work?  Not likely.  As for the value of his property, it is likely that Mary too could find enough people who would claim that they would love to live nearby or even next door to such a big star as she is.  Further it appears that she is a good neighbor.  Se is rarely home and when she is she keeps to herself Most reasonable people could ask for no more from a person.  The implications of court granting damages because of someone's reputation and not actions seem far too severe to warrant.

Student Answer #2:  In a jurisdiction following the 2nd rest., Scott perhaps could successfully bring pvt. nuisance suit -- balance costs v. benefits, then look at serious harm.  What would S want?  Damages? or her to move?

(1)  Benefits v. Cost of m’s presence

A.
Benefits of her presence

· perpetuates wealthy community

· maintains property value

· may lure potential buyers b/c of her fame

· quiet, usually -- she’s rarely there

· when there, she’s a good neighbor -- less noise

B.
Costs

· MEDIA, MEDIA, MEDIA -- their noise, commotion, late hours, for days

· media trespasses

· her reputation is turning potential buyers away

· media turning prospective buyers away

· too much publicity for a remote community

(2) Serious Harm: Even if the benefits of M’s presence is assumed to be greater/outweighs the disturbance/harm caused, per the 2nd rest.  “an activity can still be a nuisance if the harm is serious and the defendant can afford to pay those damaged.”  This is where S’s suit potentially fails.  While M can afford, perhaps, to pay her neighbors for, say, trash pick-up (left by media) or landscaping (if media damaged), this is not S’s gripe.  He’s concerned about decrease in property value.  

Additionally, the harm must be serious.  In Carpenter, the Idaho court mentions factors for determining seriousness -- for “evaluating the gravity” of the harm.  They included: extent and character of the harm (sporadic, yet long and annoying visits by media -- which will probably increase after her autobiography, TV movie comes out); the suitability of the particular use (she uses her house quite neighborly -- it’s the media, mostly -- only partly her reputation) or enjoyment invaded to the character of the locality (perhaps neighbors don’t get enough sleep when media visits, they lost prized rose bushes, they’re concerned over prop. value), the burden on injured person to avoid such harm (S would prob. have to move); and the value which the law attaches to the type of use/enjoyment invaded (one’s home is one’s castle -- depending on the court, of course, but often where a wealthy neighborhood is concerned.)

Per the 2nd restatement, damages may be feasible here, if the harm to neighbors is deemed significant enough.  Again, none of them have complained -- just S.  However, it is possible that M could have evening security guard for neighborhood, and maintenance/landscaping, depending on just how wealthy she is [it may not be feasible given her reputation (it’s often hard for “possible murderers” find honest work)]  However, it’s important to note that S’s only complaint is having difficulty selling his house mostly due to M’s reputation, stigma, and “fanfare.”  Depending on just how much the media’s presence is doing, S may have a shot.  It seems more likely, however, that his gripe is really with the media, as they’re the ones trailing M on whims and rumors.  It seems to be more the media activity that would be causing “harm”.  Perhaps when the TV movie comes out, her name will be cleared -- S may then have an easy time selling the house (if he still wants to).

(3) Review Problem 3C (Brussels Sprout Dolls)
(a) Comments on Exam Answers:  A lot of students had problems with this, which was really a follow directions question.  I asked for application of the Restatement Second, not for all possible remedies and their relative merits.  The best answers listed both prongs of the restatement 2d, then applied them to the facts.  Students lost points quickly for not knowing the prongs of the test or for failing to apply them to the facts.
(b) Best Student Answers:

(i) Student Answer #1:  According to 2nd restatement, the intentional conduct of an entity that causes harm to the property of another is a nuisance if:

1.  the utility of the conduct is outweighed by the harm; or

2.  the harm is substantial and forcing the actor to pay damages would not shut down the conduct of the actor.

Here, the manufacturer makes dolls that "feel like baby skin."  Many persons may argue that the production of dolls is of great social utility - it promotes maternal & paternal instincts in children.  In order to maximize the cultivation of such instincts, it's necessary for the doll to be as life-like as possible.  Besides, dolls make kids happy & happy kids = happy parents!

2nd rest says that such social utility, however, must be weighed against the harm.  Factors:  Extent of harm; nature of harm; burden on the plaintiff.  The nature of the harm is multifold:  releases chemical (potential carcinogens) into air; chemical may cause cancer in humans (we don't know); news may reduce prop value.  That the chemical causes cancers in rats is relevant but not conclusive - today most chemicals cause rat cancer.  We don't really know the impact on humans.  Note that one shortcoming of 2nd restatement is that it doesn't allow cumulation of harms on the side of plaintiffs but does allow cumulation on side of society!

The news potentially may cause property values to fall - but this too is speculative.  Note factory on the outskirts of city - how many houses will be affected - are there any close by?  If not, then the extent of the damage is small!  If the chemical really is dangerous to humans the gravity of harm is large - even if confined to neighboring residents!

A $34 M business has got to be valuable to small town of Vera City unless city is large - it may choose to eliminate those jobs!  How important to economy is the business?

Note that social utility is also arguable - there are hundreds of doll manufacturers - what does one less doll do to our social good?  Besides they may be able to make doll w/ non-toxic process - even if it means giving up baby skin.

Utility > Harm? maybe not because utility of dolls low, but utility of $34 M business may be great!  Harm is speculative but potentially grave.

If utility < Harm then injunction; If utility > Harm then we must go to step 2 of test.

Would making business pay damages shut down business?  We need more info about dropping prop values!  More info on cancer potential!  If damages don't exceed profit margin, then rest 2nd says allow conduct to continue but make doll co. pay the damages.  If damages > profits, then no damages will be paid.


(ii) Student Answer #2:  Under the nuisance theory of the second restatement a balancing test is applied; remedies include injunction, damages or both.  The balancing test examines harm vs. utility.  If the utility is greater than the harm created by the activity, and the harm is serious (substantial), the activity will be allowed to continue but damages for the harm may be granted.  If on the other hand, the harm is greater than the utility, injunctive relief may be granted.  Where harm is greater than utility, damages may not exceed an amount that would make continuation of the activity un-feasible (because this would in effect be an injunction).  

The harm here is obviously the release of cancer causing chemicals as a by-product of the manufacturing process.  Although related to rats, there is probably a high correlation between the effect of chemicals on rats and on humans.  Another harm that results is the decreased property values that occur when the news becomes public.  Thus, on one side of the equation we have harm to health; and harm to property values.  

On the utility side there is a $34 million plant that employs residents, pays property taxes, and stimulates the local economy.  The "value" of the merchandise is debatable given the quality and social values of some of the toys on the market today (although one could agree the toys have some value - entertainment for kids/give parents a break!)  In the balance, I would think that the residents have a good chance to get an injunction against the manufacturer.  (Continuation of activity might be conditioned on the manufacturer’s developing other non-cancerous methods of production).  The harm issue may be tricky to prove if a court won't accept the human-rat connection; however, the residents have already suffered harm in decreased property values (could be substantial through actual sales at decreased prices).

(4) Review Problem 3D (Drug Treatment Center Prior to Opening)
(a) Comments on Exam Answers:  This was collectively a strong answer; most students demonstrated some thoughtful work on at least part of their answers. It also turned out to be an interesting exercise in Sociology.  About 2/3 of students who answered it assumed that the residents would be stereotypical poor urban drug users, probably at the center against their will.  Most of the rest assumed it would be an upscale residence for addicted celebrities.  I suspect that both mandatory facilities and outfits that look like the Betty Ford Center would be a lot bigger than this.  Small facilities like this sometimes house the urban poor but only on a voluntary basis and are at least as likely to house middle and upper middle class folks who have developed addictions and who either are paying out of their own pockets or are relying on health insurance.


The heart of the question was the balance of utilities and harms. I rewarded answers that explored both possible harm and possible utility in some depth, considered whether there might be alternative locations that would be preferable, and made arguments about why the balance might come out each way depending on additional facts or policy considerations (as opposed to simply saying that the finder of fact would have to balance). In addition, I thought the problem raised a couple of other issues that merited consideration:


(1) What is the significance of the center being “allowed by the local zoning?”  As many of you pointed out, the lack of a specific prohibition normally doesn’t preclude a nuisance suit, but Armory Park suggests that if the zoning makes specific provision to include the particular use, that might be different.  Nobody picked up on this, but this is the kind of specialized use where it might arise.


(2) Because the center had not yet opened, all tangible harms are purely speculative and, arguably, simply the result of irrational fear.  This distinguishes the case from any we read. Even in Carpenter, where the plaintiffs were trying to prevent a future expansion, they were objecting to the extension of existing harms.  The problem provided an opportunity to discuss whether an injunction is appropriate in such a case.  Many students at least noted these concerns and some made them central to the discussion.  A couple of students noted one particularly clever way to address this problem, which is to get testimony as to the effects of similar facilities that already had opened.  Another clever point was to note that, because of the irrational fear, stigma statutes might protect the owners’ property value by allowing them not to disclose to buyers the existence of the center. 

(b) Best Student Answers: I found many answers fairly strong but none of them especially so.  The first model probably provided the best combination of doing the balance and noting the complicating issues. The second does a fine job assessing the utility and especially the harm from each side’s perspective.  The third did the best job elaborating the possible utility. 


(i) Student Answer #1: According to the First Restatement, a balancing must be done in this case, by the finder of fact. Utility of the conduct vs. the harm created by it. Also, damages are not available under the 1st Restatement, so an injunction would be the only remedy possible. If the harm outweighs the utility, Ambrose can get an injunction. If not, then there is no remedy for Ambrose.

Utility:   - getting people to stop using drugs.

  - creating a healthier (and presumably safe) city or neighborhood

  -presumably putting Sam's skills in treating patients to good use.

  -creating jobs for others in the town who may want to work at treatment center.

Harm: Nature of the harm: Negative publicity may be considered serious harm to people in this well-to-do area. A maybe famous can care about his image greatly. Property value is a very real harm to the property, which affects how easily and at what return Ambrose can sell his property.

Extent of the harm : 15% seems like a sizeable harm to Ambrose, especially because he lives in a well-to-do area. Think about it: a $2 million dollar house would lose $300K in value in a situation like this.

Burden of avoiding the harm: For Ambrose to be able to avoid the harm, he would have to move away. This is hampered by the nature and the extent of the warm, which would prevent him from moving as easily as he may want to. But it is also important to consider that 1. It would be a great burden (its always hard for someone to leave his home) , and 2. He doesn’t want to leave.

Balancing: The harm may be hampered because the center itself has not yet opened. So, even though there is negative publicity, and the property values have gone down for the time, there is no way to know what will happen in the future. The center may remain clean, and the people in the area may never know that the drug addicts are around (presumably, that is the problem that the residents are most concerned about.) This makes the situation that much harder to balance. If there is a high value on "cleaning up the streets" in this particular area, the finder of fact may determine the utility of the center to outweigh the harms. In another area where there may be only a few "drug addicts" and drug use does not appear to be a major problem in the area, the harm to the property values and the negative publicity will outweigh the utility of helping people addicted to drugs.


(ii) Student Answer #2: Since the jurisdiction is using the 1st  Restatement theory of dealing with private nuisance, the finder of fact, likely a jury, will weigh the harms and the utilities of the nuisance. If the harm is deemed greater than the nuisance, then an injunction will be granted and the action enjoined. If the utility is greater than the harm, no matter how serious the harm, the action will not be enjoined.

Harms - Ambrose is going to make several strong arguments about why the "nuisance" should be enjoined. The obvious, most glaring problem with the treatment center is the decrease in property value. For the private homeowner, property value may be the single biggest concern ( For some, more so than hurricanes!). Whether or not the decrease is warranted, it is still a fact. They will also argue that a drug treatment center will cause other problems in the area for, example they might point out that drug abusers might have a higher propensity to commit crimes. They also might argue that noise from visitors and from outdoor activities would be a nuisance. They would also worry about the safety of their children. They probably worry about the possibility, no matter how remote, of drugs making their way to the children.


Sam will have several strong counterarguments. First, he will point out that the property value could just be a short term deal. People tend to get wound up early on and calm down after some time. Re the increase in crime: Sam will point out that the center has not even opened yet so there is no way to prove any problems with increased crime or drugs making their way to the children. Finally, he will argue that noise and traffic may not be a problem. He can schedule visitations incrementally and schedule outdoor activities during the day or on weekends. He will also point out that most of Ambrose's fears are just that- irrational fears not backed up by anything.
Benefits - Sam will argue that the utility of such a center in the community outweighs the harms. Counseling centers are impt. b/c drug abuse affects a whole spectrum of people, even  the rich, who might have a more successful program in a comfortable upper-class environment. Ambrose will counter that Sam could open his treatment anywhere. A treatment center works the same, no matter where you are. So, he should, before it will cost him more to do later, sell the place and move now.


(iii) Student Answer #3: Under the first restatement the harms are weighed against the utilities and if the harms outweigh the utilities, then an injunction (not damages) may be awarded. Since the center has not opened yet, most of the harms are speculative. 

Harms:  
The property value has dropped significantly for the surrounding 4 lots and the center is not even open yet. When the center opens, will the property value, decrease further? Expert testimony or evidence based on another center and its effects would be helpful here. If a court considers speculative harms such as increased crime, negative influence or children, or unsavory visitors in the neighborhood, the harms would increase. Maybe A and his neighbors are recovered drug addicts who do not want to be around people who are likely to do drugs. Maybe the neighbors moved there with the understanding that they would not be around drugs.

Benefits There is a strong public policy argument here. Providing facilities for drug addicts keeps addicts off the streets and reduces crime. The residents at the center may come from the community. If so, this would be a large benefit b/c people would not be away from family while the recover and may recover sooner.

However, there are no monetary benefits to be gained. The amount of jobs created here are limited and tourism to see the center is unlikely. The center may argue that it complies with zoning ordinances, but that is not a defense to nuisance allegations. However, it would be a benefit to have the center here b/c many places may use zoning to prevent such centers. That is not the case here.


The center is in a very nice area. Many people w/ drug problems have not lived privileged lives or are from depressed areas. If this is the case, the recovering addicts would be less likely to return to where they are from (not saying they would stay here), but would try to go somewhere nicer. This would benefit society because people often relapse when they get out and go back to the same place that encourages their habit to begin with.


The overall benefits here seem to outweigh the harms because if many more people are affected after the center is opened, a public nuisance action may prevail if the speculative harms materialize.  A court is unlikely to enjoin the center because the benefits outweigh the harms. 

(5) Review Problem 3E (Disabled Homeowner with Noisy Van)
(a) Comments on Exam Answers: This question asked students to balance the harm caused by the van noise against the utility of using the van.  The best answers explored both possible harm and possible utility in some depth, considered alternatives that might be employed by both C and the residents, and made arguments about why the balance might come out each way depending on additional facts.  This was collectively a strong answer; most students demonstrated some thoughtful work on at least part of their answersThe most common problem was overstating the case for C.  Whatever the general public policy is for aiding people with disabilities, a court is likely to be quite sympathetic with neighbors awakened at 4 a.m. on every working day.
(b) Best Student Answers: The model answers both lay out a number of good arguments.  

(i) Student Answer #1: The First Restatement balances harm against utility. If harm more, injunction. If utility more, no relief.  

Harm.   The harm = neighbors waking up. This could be severe or not. Even though the noise is "very noisy," it may still be difficult to hear if the neighbors are far away or have their windows closed. If they're super light sleepers and get woken up anyway, the harm is slight. If the neighbors are all stock-brokers too this may not be bad because they'll get up early too. But, at least some of the 7 surely get up later. 4am isn't early enough to where you can just wake up anyway, that's the middle of the night (or close to it) for many people. 

If they can fall right back asleep with no problems and no lack of performance the next day, there's little harm. Everyone wakes up during their sleep, maybe to go to the bathroom or from a bad dream or just randomly. 1 extra time may not make a big difference. Some of these people may not even be employed. If they sit around and watch TV all day, it doesn't matter as much whether they get less sleep. But if they're all lawyers or surgeons, the harm is severe. But, waking up randomly isn't as disturbing as hearing "that damned van again!" every morning and getting mad.

In that regard, being woken up by itself isn't that bad. But being woken up at the same time every morning by the same terrible mechanical noise may lead to more problems that just sleep deprivation. It could cause hatred among the neighbors, higher anxiety, lower property values, etc. Property values, however, may not go down if the 7 neighbors can sell to people who sleep solidly. But, they'll probably have to disclose the problem (since they know about it and it's significant), and a horrible noise at 4am every morning will surely drive away many buyers. 

Utility:  The utility is C doesn't have to pay $85,000 for a quiet lift mechanism. But, this may not be that much if he's a stock broker. Stock brokers make a lot of money, and some could easily cover that cost. The other utility is it allows him to get into the van in his wheelchair. This is important because he has to get in to drive. The utility is independence and transportation. But, he could hire a car service, or he could get a friend to drive him. Although such a driver wouldn't be a friend much longer after getting up at 4am, unless it was a fellow stock broker who got up early too. And hiring a driver would probably cost more than $85K per year. Also, he may be able to work from home, but that's really more for day traders and not "real" stock brokers. He couldn't get public transportation because it doesn't run that early and most buses don’t have wheelchair lifts.

Unfortunately he has to get up that early for the markets on the East Coast. The utility is he gets to work as the markets open. This may not be as important as it seems. He could switch to after hours trading in theory but in practice he would surely have to take a pay cut or even lose his job because there's less "action" then. He could switch jobs, and be an analyst or something like that. He must have a good education if he's a stock broker.

Concern re externalities doesn't really apply here. C isn't a factory pushing the costs of production on its neighbors rather than its customers. C has no traditional customers. Anything internalized will be internalized by him because insurance won't pay for the new lift. But, he may have clients, maybe he can charge them more. Even if he has no customers like a factory does, he's still creating spillover effects on his neighbors that could borne by him. Between him and his neighbors, it's more fair to have him bear the costs. But, the poor guy bears enough costs already, a sympathetic court may be swayed to use the First Restatement to favor C. 

Overall the harm is more because it affects 7 people severely (if not now then eventually) who can't really do much to control the nuisance (they can't line their walls with lead or anything like that). The utility is limited because it only allows 0 to drive to his job early in the morning, it's not vital for him to live. He can get another job or another form of transportation. 

(ii) Student Answer #2: C would be liable to the neighbors if the utility of the nuisance is not greater than the harm of the nuisance. Thus the neighbors could have an injunction against him to halt the nuisance and presumably move or buy an 85k quieter van. If the utility outweighs the harm, then C is not liable for any damages to the neighbors. 

Here the utility may outweigh the harm, because this is the only feasible way for C to get to work and C is the provider for two minors and one other adult. His income directly supports them and without him working they would be presumably be destitute. This goes against public policy as there is a strong public interest in having self-supporting families, as to avoid need for support on the government through welfare programs. Given the nature of his work and the time he does it in, 3:55am, he will not be likely to rely on others car pool.

C cannot effectively move either as the problem will most likely occur everywhere he goes, thus it would be too high of a burden to place on him. And the cost of curing this problem, $85k, is much to high to justify its use. His insurance will not cover it and depending on where he lives, may cost more than the home itself. C cannot get a job that works normal hours and still be expected to support his family, as his job and training are so specialized, stock trading, that can be no benefit to other lines of work and expect to get paid the same.

The harm here is relatively small, as it does not physically harm to body or health of the persons effected. It is an inconvenience to some, but there is an argument to the neighbors being oversensitive give the late hour in which they wake, as a normal person would be dead asleep. 

BUT: The harm here does outweigh the utility because the harm directly interferes with the neighbors rights to quietly enjoy there property. There is a significant emotional and physical harm in being awoken on a nightly basis. Naturally not all will be able to get back to sleep after that event, and thus would suffer from insomnia and sleep deprivation. There is a strong public policy to prevent sleep deprivation, as studies have shown that sleep deprivation has the same effects of intoxication when driving. Furthermore it negatively effects these neighbors productivity at work and moods when dealing with others. 

The utility here is small because C can get a new job working normal hours, when the noise will not be a nuisance. Even if it does not pay as much, there are no facts supporting why Fiona cannot work to support the family to the level they become accustomed to. C can also move to a home with an enclosed garage, where the noise problem will likely be eliminated or severely reduced.

(6) Review Problem 3F (Exotic Plant Seeds)

(a) My Comments: This is a fairly straightforward nuisance balancing question, testing your ability to work with the facts provided and to identify missing information that might be helpful.  The problem was a little different than some of the prior nuisance exam questions in two ways.  First, arguably both the utility and the harm here are not very substantial. Second, the problem required you to try to assess the value of aesthetic harms and benefits.  I gave this problem as a final exam question one year and as part of a practice midterm in a subsequent year.


(i) What I Was Looking For: You should have identified both benefits and harms and discussed how substantial they were, ideally noting possible alternatives both parties could take to try to limit the harms. (More detail on utility and harm follows below.) You then should have discussed what outcome was likely or at least possible when the fact-finder balanced utility against harm. Both of the final exam model answers contain solid examples of what this might look like.  Many students lost points both this fall and last spring for skipping the balancing step or for simply announcing who would win without explanation.  Some students listed some or all of the factors the Restatements consider for utility and harm.  You received credit if you actually used the factors as part of your analysis, but not if you just provided a list without applying it.  



(A) Utility:  The aesthetic benefits of the flower may translate into (i) an increase in property value for A and her nearest neighbors; and (ii) intangible utility involving pleasure in viewing the flowers, satisfaction from gardening, and possibly reliving happy memories from her trip.  Room for lots of discussion as to how substantial any of this is, especially if she used to have other pretty flowers in same spot.  Her utility also might be limited if she was able to limit harms to M by planting the camara elsewhere on her lot or inside her house. 



(B) Harms: Seriousness of allergies depends on, e.g., more details about the extent of symptoms (how often do they occur, how long do thy last, can he avoid with gloves or weed killers, can he fix with cheap medicine, etc.)  Seriousness of loss of tulips/daffodils depends e.g., on number destroyed, cost of bulbs, availability of alternate flowers he likes, affect on property value.  Harm from both sources together might significantly reduce the value to him of gardening and even of the house itself.  




(C) Other Plausible Issues to Raise:

· Responsibility for Third Party Harm: A might argue that all harms are caused by the plants and she shouldn’t be responsible, but probably more like the flies in Carpenter than the trespassers in Armory Park, and she continues to plant the flowers in the same location knowing what the results will be, so he probably ought to be responsible.

· Oversensitivity: This is a significant defense under the other tests where even small harms can produce remedies.  Really comes into the First Restatement primarily as a claim there is so little harm, that plaintiff can’t possibly win.  Might argue that if one person in 100 million is allergic, even if harm to M is extensive, property value will not be affected and she shouldn’t be responsible under nuisance law.  

· Elapse of Time Before Lawsuit: Some students argued that his waiting years before suing is evidence that the harm isn’t that great.  This is a plausible argument, but you must also leave some time for him to figure out what’s going on (e.g., source of allergy and/or source of harm to bulbs might not be immediately apparent), to tell her, and to see if she’ll try to fix it.
· Others Affected/Environmental Harms We briefly discussed that, at least in some states,  plaintiffs in private nuisance suits can only raise harm to themselves.  I gave some credit for discussion of possible harms to other neighbors, but it shouldn’t have been central to your analysis.  Relatedly, M probably can’t rely on environmental damage by the plants to land he doesn’t own (widespread environmental damage might give rise to a public nuisance action or other sanctions by the government).  Some students cleverly noted that he could claim any other environmental damage to his own land caused by the plant and that if the plant took root all over the neighborhood, M’s allergies might worsen.

· Proper Cause of Action: We discussed invasive plant species in the context of trespass rather than nuisance.  There was room for a discussion of whether a nuisance action shouldn’t lie because trespass might be a better cause of action for allowing seeds to cross the property line.  

(ii) Common Problems:



(A) Statements Inconsistent with the First Restatement Test: You need to know the rule I ask you to use.  A number of students lost points for applying one of the other tests we studied instead of or in addition to the balancing test or for citing cases like McCarty that did not apply the test without explanation (see 2d final exam model for example of how to cite McCarty appropriately).  


You need to use the test in question to structure your discussion.  Some of the midterm students stated the rule at the top of the page and then had a discussion that made no reference to harm or utility or balance.  Make the legal tests work for you by using them to frame your discussion.

Policy arguments that are inconsistent with the rule also are unhelpful.  For example, the First Restatement is inconsistent with a strong right to use your property the way you want to.  In a First Restatement state, A doesn’t have the right to grow the flowers if she is creating sufficient harm and M doesn’t have the right to garden without interference if her utility exceeds his harm.  Similarly, you need to explain why discussions of norms or Coase or creating sufficient incentives are relevant where the state has already decided what the rule is. 



(B) Lack of Intent:  Many students incorrectly argued that this was not an intentional nuisance case because A didn’t intend to harm M.  As we discussed in class, “intentional” in this context simply means the intent to continue doing the challenged activity after you are aware of the harm.  Here, after M complained, A continued to plant the seeds in the same place and took no additional steps to protect M.  Thus, this is an intentional nuisance claim. 



(C) One-Sidedness/Overstatement:  I penalized students who saw almost no arguments for one of the parties.  I also penalized students whose arguments were overstated either in terms of the facts that you were given or in terms of their legal weight.  


(c) Best Student Answers:  Fall 2007 Midterm:  In this version of the question, I eliminated the reference to Kenya (which seemed to distract some students from the thrust of the question) and simply said that “The camara plant is not native to the state where Alissa lives.”


(i) 2007 Midterm Q2 Student Answer #1: This answer is structured very well and contains especially solid discussion of the extent of the harms and of why a court might favor A in the balancing.  This was written by the same student who wrote Q1 Answer #2, which demonstrates what it was possible to do on this test as a whole in the one hour allotted.  Since we are dealing with the 1st restatement, Alissa can be restricted from growing camaras if the utility of her growing them is less than the harm caused to Mike.  

We first must examine the use of the neighborhood, which is residential and people spend a lot of time gardening. Thus Alissa’s growing of the camaras is in sync with the nature of the neighborhood, even though the plants are not native to the state where they reside.  People in the neighborhood generally comment on how aesthetically pleasing the camaras are. If Alissa were forced to remove the camaras it seems like people in the neighborhood would be disappointed since these flowers made the neighborhood prettier, perhaps even raising the property value. 

Unfortunately for Mike, he is allergic to them.  However, it may be that he is oversensitive & that everyone else in the neighborhood experiences no problem form the camara. Moreover one must ask how much does this allergy take away from his interests in enjoying the property.  If he’s just sneezing every so often and gets a rash now and then, is it really affecting his property use? Furthermore, how easily can he avoid the allergic reaction to these camaras?  If he just has to take an allergy pill then perhaps he would be unable to enjoin. Furthermore, how often Mike did receive this allergy? If it was every so often as opposed to the regular/continuous enjoyment that his neighbors got from looking of the camaras, his case is weakened. Finally he did not complain about the use of these plants until after three years.

Another thing that these camaras do is they kill his tulips and daffodils.  While that is rather tragic, it does not specify whether the camaras completely disallow him from enjoying his gardening activities; perhaps he can plant geraniums or roses instead.  

I believe that the court would find that the utility of Alissa’s camaras—the fact that they improve the aesthetics of the neighborhood, maybe even raising the property value, and did not go in contrast to what the neighborhood was used for (residing/cultivating etc.)—outweighed the harm to Mike b/c there might be hypersensitivity issues, the harm does not seem difficult to avoid, it does not significantly affect his property interests because frankly he could plant other flowers than tulips/daffodils (which are rather mundane), and because he did not complain about these camaras until years later.  Thus Alissa would not be prevented from growing these camaras & wouldn’t have to pay damages because it is 1st Restatement.


(ii) 2007 Midterm Q2 Student Answer #2: This answer contains nice discussions of both harm & utility, which in turn contain points that implicitly go to the balance.  However, I would have liked a little more explicit discussion of the balance.  Because this is a private nuisance claim under the 1st RS, the gravity of these harms must be weighed against the utility of A’s conduct. 

So first, the harms that M has against him: 
· Allergies (physical harm): sneezing and eye irritation and even a rash. This harm occurs simply by stepping outside and being on his own property. 

· Killing his plants: there is actual research that shows C plant kills flowers with bulbs, i.e. what M has in his garden.

Gravity of harm: I believe that harms are very serious. Standard to determine serious harms is from Carpenter I  and they must be “substantial” and more injurious than other activities that are customary to that area. [MAF: Not clear this test applies to 1st Restmt as opposed to 2d, but reasonable points nonetheless.]  We would want to know the make-up of the rest of the neighborhood. Is A the only one with these kinds of plants? Is M allergic to other activities of other neighbors? If so, A could use the over-sensitive plaintiff defense. So we would want to know the extent and frequency of his allergies and if any other neighbors of A are affected by the plants. 


Overall, the harms are serious because M is affected by the plants only being on his property. He has done nothing wrong to be subjected to the seed pods, so from a policy standpoint it would be unfair for M to endure these harms and allergic reactions just by being on his own property. It severely affects his use and enjoyment of his private property. Also unfair that he cannot grow the flowers of his own choice because of actions of A. (This point can be weakened by A if we know whether other/non-bulb flowers are affected by camara plant; A can show that there are reasonable alternatives for gardening.)

Utility of Conduct: There is high social value attached to these flowers, as there is evidence that everyone loved them and how they looked. Even M liked them and allowed them to grow for several years so they could not have been too bad for him. Nevertheless, if one can show that A is the only one in the area who has the camaras, then it is not suitable to have the foreign species of plant in the neighborhood based on the locality. The burden of removing the invasion/harm can be construed as either large or small. A can argue that for her to remove the plant/pod seeds she will be unable to grow them for the next year or ever again and it is unfair for her not to be able to grow whatever she wants on her land, especially after doing so for several years without any complaints. 


However, one can also argue that the burden of removing the invasion is not great; there is a clear alternative that will abate the nuisance permanently: PULL out the plants or PICK the seed pods before they explode. It is very clear that the seeds are causing harm and that the harm will stop if the plants are removed. A is acting unreasonable by allowing the flowers to grow and spread each year.


A could argue that she has no control over how the seeds land and cannot be held culpable for acts of nature. However, when it comes to invasive species, M can use general tort liability rule that holds A liable for setting into motion a chain of events that caused harm. If A did not plant these flowers, then M would not have been harmed. She is responsible for causing the physical harms and damage to M’s property (killing of the flowers).


After balancing the gravity of the harm to M and the utility of A’s conduct, I would conclude that M has a very good claim for private nuisance against A. Under 1st RS, as long as the harm outweighs the utility of conduct, M is eligible for injunctive relief. 


(d) Best Student Answers:  Spring 2007 Final Exam:  


(i) Q2:  Final Exam Student Answer #1:  [Here, the harms and benefits sections are solid, and  the additional” Other Questions” section and the long “balance” discussion are very good.] The first Restatement is a balancing test: the harm of Alissa growing the flowers v. the utility of Alissa growing the flowers.  All harms and benefits must be summed, and than weighed against each other.  If the harm is greater than the benefit, an injunction will be issued.  If the utility/benefit is greater than the harm, an injunction will not issue.  

Harms:

· Gives Mike allergies; gives M a rash when he touches the plants, though maybe only minimal interference with M (Seeds are only spread in fall.)
· Stops M's tulips and daffodils from growing (A's personal enjoyment of flowers over M's personal enjoyment of flowers.)
· Maybe an invasive species, is an unreasonable use of this plant in this climate (a stretch if it can't be shown to do harm other than allergies).  

Benefits:

· Neighbor's like

· General benefit to the community

· Probably not an increase in property values, but causes people to like their neighborhood more, maybe other people too.  

· A likes Personal enjoyment & Right to plant what she wants on her property

Other Questions/Things that Make this Difficult to Answer: 

· How serious is M's allergic reaction?

· How often does he get the reaction?

· Always when he is outside?  In his home?

· How easily can the plants be controlled in M's yard?

· Would wearing gloves mean that M's doesn't get the rash when he handles the plants?

· Any cheap medication that M can use to control this problem?

· Viable alternative to leaving plants (and allowing them to burst/spread pods) in order to get the seeds for next year?\

· Is the plant only available from Kenya, or is that simply where A brought the seeds from?

· Can she grow the plants inside?  Would this satisfy A's personal enjoyment?

· What do neighbors think of M's flowers?  Maybe they like his overall more than A's, but just like A's camara flower.

Balance: (Done by the finder of fact):  Seeing the amount of unknown questions, this is a very difficult balance to do, and could in part depend on whether a judge or jury does the balancing.  A jury may be more sympathetic to M's claim, b/c many people have allergies and know that while even when they aren't severe, they are a hindrance that people generally like to avoid.  In light of this, a jury might think that A's claim to having pretty flowers and even the neighborhood's general enjoyment of the flowers isn't enough to make one person in misery.  On the other hand, it's not clear whether this is a problem that M really faces very often.  If he only deals with the problem on certain windy days in the fall, his allergy problem may be limited to 10-15 days a year (depending on how windy where he lives is).  On the other hand, if M has house pets who drag the seeds in or the seeds find there way into the house otherwise, M may face the prospect of dealing with allergies all fall--quite a serious harm, even if the allergies are only mild.  While M may be able to take medication for this problem, to impose a financial burden on M (since the 1st restatement doesn't do a damage analysis) of buying medication so A can have her flowers is something a jury or judge would find to be a harm greater that is greater than the benefit (only measured in the grand scale of harms v. benefits).  


In the end, it is likely M will be able to get an injunction.  M spends a lot of time gardening, so he is likely outside a lot, and likely comes into contact with these seeds quite a bit, meaning that his work as a gardener and his use and enjoyment of his land are being impaired simply so A can grow her flowers.  Furthermore, a judge or jury would probably give great weight to the fact that the prettiness (is that a word?) of flowers is purely subjective.  And while the neighborhood like's A's flowers, and if they are from Kenya they may be very unique, to say that A's flowers are more prettier and therefore more valuable than M's flowers (tulips and daffodils he can no longer grow) is a judgment neither a judge or jury would likely find fair. The only other way A would win is if the harm to M is so remote, unoften and minor, that the aesthetic value (to herself, her neighbors, etc) of having her flowers is sufficiently outweighs  the harms caused to M.  



(ii) Q2 Final Exam Student Answer #2:  [This is not quite as strong as the first model but contains some solid discussion of harms and a number of thoughtful points about the balancing.] Under the 1st restatement, courts balance the harm and the utility of the activity in question and grant an injunction if and only if the harm outweighs the utility.  Here, in the case of a private nuisance, personal harms and general benefits are weighed (like that in McCarty, although the court did not use a balancing test at all but considered the personal harms, smoke, soot, etc in strict liability.)

Harms to Mike: Allergies- seemingly localized to his home.  This might make the harm worse, he is being subjected to a foreign allergen in his own home (his castle) because of his neighbor.  Something she brought is not only reducing the enjoyment of his home but making him literally sick.  


Loss of a hobby.  Both Mike and Alissa were gardeners, now, not only is Mike allergic to the flowers that might well be everywhere, but his own flowers are dying.


Invasive Species- possibly in the next big seed burst the seeds will spread far off Mike's lawn and then he won’t be able to go anywhere in the neighborhood without sneezing and having allergies.  

Utility:  Beauty of the flowers, Cultural education and variety (people see the flowers and ask questions.  Ability to garden (Alissa).  
Balancing in the mind of the finder of fact: On first brush this seems easy.  If Mike is sick and Alissa's plants caused it, it shouldn't matter how pretty those plants are.  (Or how rare).  BUT, the allergy did not develop until a few months after the first planting.  This might be legitimate.  So Mike did not sit on his rights by not right away noticing the personal harm.  However, it was years before he instituted the suit. If the allergy was not bad then, and he continued to sit on his rights after those months passed, until years later when his plants were dying, maybe the allergies should be taken out of the balancing equation.  If the allergies were not bad enough to cause an action on their own, possibly Mike's complaint is really just about the harm to his property (the plants).  If this is so, then the finder of fact may decide to use just the harm to the plants, loss of a hobby (from both plants and less so (under this theory) the allergy) should be weighed against the utility.  The flowers being beautiful might be a psychic benefit to all who pass by, while Mike's allergy (if considered) is limited.  However, when you add the property destruction, the daffodils and tulips, courts might decide to make a bright line rule.  If there is any property damage and the utility is limited in manner, to something surface without for example economic impact, then the court may say that the harm always outweighs a surface utility like beauty.  Protection of property from destruction may cause the court to err on the side of Mike here.  

If the court juxtaposed utility with difficulty of getting more seeds, or moving the flowers, the fact that the flowers may be so beautiful as to have become an attraction (need more info here, unlikely unless this is a BIG gardening community, which it may be), than the utility outweighs the harm. 


Determination here depends on a strict or loose reading of the utility requirement in the 1st restatement and the possible other facts such as value of beauty (aesthetics), whether the flowers have risen to attraction status, and whether because of the time issue, the court might not consider the allergies as having been not harmful because Mike lived with them and did not bring suit until years later.

(7) Review Problem 3G (Rock Bands at County Fair):  
This Problem is part of Old Exam Question 4Z.  The complete question and the comments and student answers are available on the course page.

�  In a private nuisance suit, you only consider harms to the plaintiffs although you still consider all utility of the defendant’s conduct.
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